Svyy3IsoLow

MOTOSIERRA

PARA MODELOS 952

¥

>
Q97

Ref  Descripcién Cédigo

1 TAPA ARRANQUE 952 50072005R 000002200050072005
2 TORNILLO 951 5X16MM 094600041R 000002200094600041
3 TORNILLO 4X20 VARIOS MODELO 094000227 000002200094000227
4 BUJE BOBINA 50070148 000002200050070148
5 VOLANTE ELECT 952 (50070015) 50070198R  000002200050070015
6 TUERCA DI 4MM (5100067) 3933100R 000002200003933100
7 JUNTA ESCAPE 952 50070031 000002200050070031
8 TORNILLO ESCAPE 952 5 X 25 MM. 50070032  000002200050070032
9 TUERCA DI METRO 4MM (5100067) 3933100R  000002200003933100
10 JUNTA CARTER 952 50070039 000002200050070039
1 JUNTA CARTER 952 50070039 000002200050070039
12 FILTRO AIRE (365000183) AM-150/180 365000165 000002200365000165
13 CLUTCH COMPRESION 952 094500297R 000002200094500297
14 RONDANA 952 50070069 000002200050070069

MOTOSIERRA
PARA MODELOS 952

e

Ref

O~NoaUVThAWN =

—

Descripcién Cédigo
TORNILLO TENSOR 952 1X10MM 50072027A  000002200050072027
SOPORTE 952 50070035A 000002200050070035
INTERRUPTOR (2317011A) 2317021R 000002200002317021

PALANCA AHOGADOR 952 (50070026) 50070228 000002200050070228
TORNILLO CARBURADOR 5X61MM 50070067A  000002200050070067
SEPARADOR 952 50070055 000002200050070055
TORNILLO 951 5X16MM 094600041R 000002200094600041
TORNILLO BARRA 952 8X54MM 50070052AR  000002200050070052

www.gimbelmexicana.com

PRECIOS MOSTRADOS INCLUYEN IVA'Y PUEDEN CAMBIAR SIN PREVIO AVISO
PUBLICADO Y EDITADO - JULIO 2025






